A8Ball juudi g agh A dalad) o &) juadall daxia  Abas ) Juladll (3 yk Al )y die Ugal ¢ Al &l gmall (10
M}@éUmMQ\M\Q\J%Y\MwJMQN\SX‘@\JJ\J.&E)ALH\LMQ;J\Q\M\W

Lladlal) Sl
Hotelling test t? :zilist a5 1Yl
iy

D s LAY e Jie LSS s M~ Wip(I,11) 5 d~Np (0, [)aaial oS 13

nd'M™1d~T?(p,n) =Sy mbigs a5 4dld nd'M~?
da) g adina Ja giay Allaial) dud jil) JLGA -1

pladiul (S dild P H8e X QS X J enia pe a8l S OIS X~Np (, X)) o8 1
Al JSEL Belian ) (i jad Cum o3le | Gl Hlial 8 il ga spliasl

T2 = n(X = po)'Sgt(X—po)

Té~T?*(p,n—1)

Eum Ll 5 i) A gaals T2 e a3

(n—1p
T(p,'l].—l} = (n _ p) F(p,n—p,a)

T(;:Z = T(zp,n—l,a) Qs Hp o= sl



Example 1: If we have the following data,

X1 X2

220 11.0

245 13.5

23.1 23.5

245 4.5

12 8.5

14.5 9.6

10 24

14.6 23

13.6 20

27.0 27

20 26

23 25.5
Test the hypothesis

Hy: 1t = (9,5)

Hy:p # (9,5
Using the Hotelling test
The solution:
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Example 2: If we have the following data,

X1 X2 X3

5.7 65.1 8.0

32 532 12.0

4.6 36.1 7.9

7.2 33.1 7.6

54 54.1 11.3

4.5 58.8 12.3

4.5 40.2 8.4

8.5 504 7.1

6.5 52.8 10.9

5.5 40.9 9.4



Test the hypothesis
Hy:p = [4,50,10]
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Using the Hotelling test

The Solution:
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Example 3: If we have the following data,

AL aaiaall JoY aiaal)
X1 X2 X1 X2
15 112 10 133
12 111 17 120
10 120 12 115
13 140 15 157
17 123 20 130
20 115 33 125
30 102 47 95
Test the hypothesis:
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The Solution:
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